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W,+F, = o

?4-% W, = -F,
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= 1,000 X 9.8 x 0.342

= 3,344 iiaKi4

PI. wwh F &I a, = 0.2 ww-p?w~i-~

F = 1,000 (0.2 + 9.8 x 0.342)

= 3,552 Qardior

fl.%hJfllsw1JLwlu Y W,~lU4~~nodod"4'W"l~~~~~~~

N =  mgcos  20”

= 1,000 x 9.8 x 0.94

= 9,212 iia6i.J
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%w’l  ihlxsn~IJd  3.7

a = mz - ml[ 1m-2  + ml g.
T = =w% *g

ml + m2

a = [(2  - 1)/(2  + l)]  x 9.8

= 3.27 WlS-%.ll~-~

T = [(2  x 1 x 2)/(1  + 2)]  x 9.8

= 13.06 biid
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IN = 1 kg-m/s2

. . k = I

.. . IN = kg.mN
= ( lo3 g)(lO" cm)/s*
= 10~ dynes
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f
I
!V

EF, = w,-T = m,a . . . . . . . . . . . (3)
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(n)

Y

(v>
I

w

(fl)
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R, = FIY + Fzy  + Fzy  + . . . = =%J
~UIFIVO~  R &I

tana = R/R, . . . . . ...3.8

F, = 800 kf

F, =

F, =

=

F, =

=

F, =

=

. . R =
.. . R, =

=

R, =

=

m%l R =

1 , 2 0 0

(F,  cos 40~  )?  + (F, sin 40’ )T

(689.4$+ ( 5 7 8 . 7 ) ;

(F,cos  12d)i+  (F, sin 120~);

-1501+ 259.83

(F, cos 23d)T+  (F, sin 23d)j

- 5 1 4 . 4 :  - 6 1 2 . 8  3

F, + F, + F, + F,

1 2 0  +  6 8 9 . 4  - 1 5 0  - 5 1 4 . 4

1 2 2 5 . 0

0  +  5 7 8 . 7  +  2 5 9 . 8  - 6 1 2 . 8

2 2 5 . 7

1 2 2 5 . 0 ;  +  2 2 5 . 7 ;

kgf

W

kf

kgf

kgf
W
kgf
W
kgf
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uPJl~un=~PIYnJPIOJ66SJavW~~B

R = '/(1225.0)2  + (225.7)2

= 1245.5

a = tLlI-'  225.7/1225.0 = 10.6

kgf
W
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HI Awn (2) A sin 66

A

66olu  A hams (1) B

.. . B

= 100

= loo/sin so”

= 100/0.866

= 115 kg

= A cos SO"

= 115 x 0.5

= 57.5 kg

........ (1)

........ (2)
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o1n (1)M -0.5A + 0.707B = o . . . . . ...(3)

Tllfl (2)IGY o.ss6A  + 0.707B = 200 . . . . . ...(4)

pmJfl15  (3)+ em (-1)66nYa~l0JlYannuEIBnrmJ  (4)&K

0.5A + 0.366A = 200

.. . A = 200/1.3? = 146 kg

m~u  A%wfwm  (3)

(-0.5)(146)  + 0.707B = 0

B = 73/0.707 = 103 kg

dln%6sGhh c Gil6vi+JIT~nIT"utlTY~~ = 200 kg

.
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fk <  pkN . . . ...3.10

6dQ fk = 667~6%JF1VllUWiti

j.&=  ar"unl4-~w~~QaQalnrbauAw7pdenpd"  (kinetic coefficient of friction)

N = 6639d~%er3&s7n
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V

r 1

+
N = W

(f-l> (91) Y
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4-J f, 6Th665wYlwnl56n&d

h=e, ) F, = f,

CL, = Fx’fs
= mg sin 0,  /mg cos 8,

%TilWP~l5ml0ln~nl  66PlfJ6659  P tx&lu 2 66W

6659  P %U6wGiJ = Psin4<  = 0.707P

6655  P%U66UWlU  = P cos 45O  = 0.707P

%UWW=lIJFpTl

665&666M-JW.!  F = . 0.707P
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m%u~ua~~  N = mg + 0.707P
= 100 + 0.707P

Olfl fs = I-W

0.707P  = 0.2(100+0.707P)

0.566P = 20

.*.Q~~o~0ofl66’bSw~~  P  = 20/0.566 = 35.3 kg

u~slaunwluplOS8uia  = (0.707)(35.3)  = 24.9  kg
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Tlfl F = ma . . . . . . . . (1)

= g sin 8

x = v,t + (1/2)at2

9 = vo2  + 2ax

Olf, (3)Lmz v. = OM t = &57i

o-In (4) blt=lZ  v, = 0 16 v = v, = +Gi

66d1  do m = 5 kg, d = 10  m, g = IO m/St, v,, = o, x =d

fl. mfl (2) a = (10 m/s2)  sin 3d =

91.  Tllfl (5) t = d[2(10 m)]/[5  m/s21 =

n. Illfl (6) v = d2(5 m/S)(lO  m) =

. . . . . ...(2)

. . . . . ...(3)

. . . . . ...(4)

. . . . . ...(5)

. . . . . ...(6)

5 m/s2

2 s

10 m.s
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(fl>lJxl  2 lJ?n~on"u~~ul~ofl~ulnl~ a+Jwsrwl¶J&l~

(U)  free-body diagram



.‘. . . . . . . (1)
maa”w~fnshihaa  m, %I

cFy =  T  - m,g =m,a

CF, = o

laa~~wn~onlsln~opd~sloauaa  m2  (WwLLua  X’) 30

EF,. = m,g sin 8 -T = m,a . . . . . . . . (2)

(EFyr = N - mg cos El = 0)

(1) + (2) 16 a = [m,g sin 8 -m,)/(m,+m,)]g . . . . . ...(3)

(1) x m, - (2) x m, 16  T  =  [[m,m,(l+sin 9>]/(m,+m,)]g . . . . . ...(4)

LLW~I m, = IO kg, m, =15  kg, 8 = 53.f,  p = o

f-l.  66tE 'u.  01fl (3) a = [[IS kg sin 53.< -10 kg]/(lo  kg + 15kg)](9.8  m&2)
= 0.78 m/s2  m&xd%w~ff~lnr~d

fl. mfl (4) T  =  [[lokg)(lskg)(ltsin53.i)]/(iokgt  15kg)](wm/s*)
= 105.84 N
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. . . . . . . . (1)

. . . . . ...(2)

. . . . . ...(3)

a = [m,/(m,  + m2  + @I.  g
66vwd1  m, = 5 kg, m, = IO kg, m3  = 20 kg, p = o

. . . . . ...(4)

. . fl. nalu6ia a = [20 kg/(5 kg + IO kg +.  20 kg)].(9.8  m/s*)
= 5 . 6  m/s2

‘u. um& ’ T, = (5 kg)(a.s  m!s2) = 28 N

fl. 66si-d T, = (IO kg)(5.6  m/s2) = 56 N
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ma

W + ma

W + (W/g>a
42 N+[(42  N)(7  m/S2>]/(9.8  m/@)

72 N

-ma

W - ma
W - (W/g).a

42 N - [42 N)(7  mW)]/(9.8  ml@)

12 N
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3.5 99Wl6649'%hdU6Ljtln  AC 66tl: BC %UJd fhU~~~i~w~“vo~  M 6pilfi-b  40 N
m¶J tl. 26.1 N, 26.1N; %40N,40  N;

'FI. 20 N, 34.6 N; 3. 40 N, 56.6 N
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Cd)

elm fl. 50 N, 56.6 N, 91.  87.5 N, 52.5 N, n.43.75 N, 58.2 N, 20.4 N

-. ‘\ . ..<.’ r

$WJWi%l6l~  3.6

LWIJ 0.455 m&2; 37.4 N
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3.8 61 A am- B duan  2 66A:  8 ?ikw&  m~thii~

Ab¶J fl. 5.75 m&2, YI.  17.4 N, 40.5 N
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i/,/n’.‘.‘,.‘,,,‘,,,‘,
A

-Ti--
lb $

B

tJ CT/S2
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